Axt Aot 2

H AR 7|28 2 Q.

@6x18+4

© 80+ (4x5)

® 3x (42 +6)
©0O60 ®6,0,0 ® 0,06,06
® (9, ©, O ® ©,0,©




6x15+9




3. WA g 45hd AA sHYL 151 H YUY EeAo] of A H ot
137 ¢ Wty ofd gt e mE & Weluzt?

B e 3



A

2ol gyt o] FAE 4

4. @18 93} 540 Lo A
b= % 428 7pAor gk

S o HAee g3t 5L 77

—~

B & 7
YER 7



5.

T 50 37]8 Hlwste] O gtoll >, < &

1
0.23 O 1




40 2718 st O ool 42 >, =, <E HEA ILE

o AU




7. 100914 2007FA] €] ZF AL Foll A 4 9] Hlp= B H N ASY7R

B e 7R



8. 100°1A 2007FA] €] 24 Foll A 5 9] W= BT 2 717 sy
7k

B gl



pild

__o_l
Tp



10.

7F27F 8em , AE7F 10em 1 ZAFEE B
L 201—

Zre HAyzk

=10 =
F= U=

;g—

al:l-‘
= -



FEg 7
U7t
(?



12, HollA stu7tz] o] A= gkm, oA AZA7A] Q] A v %km

, Aol 2 A7EA o] A2l = %km AUk HollA 7§ 2

S DIREE:

Qe
»



